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Oueston 2 / 10

A bullet was fired with angle A. such that its horizontal range is equal to seven (Imes
maximunm height. What is the angle A (in degree)
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Question 4 / 10
The speed (in cm %)

of a purticle oy gy
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Ouaestion 7 ¢ 10

The displacement can be represented as the

O Slope of tanzent of the velocity - Lime curve

& Area under acceleration - time cunrve

T Blope of tangent of the acceleration - time curve
DoArea under average speed - tine curve

2 Area under velociby - time curve
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Juestion 2 ' 10

Which ol the tollowine has A basic unit
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